T—ER—RYSRED#EEFIFA9.30-9.32)

(1 row)

No [@= e =% EEe2y FeER (s~ FE) %
o S pg_ctl start $ pg ctl status ( )
PostgreSQLY—/% server starting. pg ctl: server is running (PID: 23121
1 |PostgreSQLOEE (BE#7PostgreSQL) postgres /usr/local/pgsql/bin/postgres
S psql -
psal (9.3.0)
IType "help" for help.
postgres=# select version();
b QU version
RS T t —N
2 |PostgreSQLM/\—Ya VB (E’;é;"'ostgresm) postgres
PostgreSQL 9.3.0 on x86_64-unknown-linux-gnu, compiled by gec (GCC) 4.4.7 20120313 (Red Hat 4.4.7-3),
64-bit
(1 row)
DdbcRunner®1 > Zh—JLiE, TRI#E_O1_fF#Y—IL DAY ZAh—L_FIRIEBRLTTIL, -
3 [dbcRunnerdAvRh—L  [EBDH—/< 33
S createdb tpec S psql -1
List of databases
Name | Owner |Encoding| Collate | Ctype| Access privileges
TRy PostgreSQLY —/< postgres |postgres|UTF8 |C  |C |
4 WEERT—5N—ROR|(grpocieresal) postgres template0 | postgres |UTF8  |C  |C | =c/postgres  +
| | | | | postgres=CTc/postgres
template1 | postgres|UTF8  |C  |C__|=c/postgres +
| | | | | postgres=CTc/postgres
tpcc | postgres|UTF8 |C  [C |
S export CLASSPATH=$CLASSPATH: JdbcRunner @B L 7= 7« L'Z - J/jdbcrunner-1.2 jar S psal -d tpec
S java IR JdbcRunner £@HL 7= 7 L' I J/scripts/tpcc_load js -jdbcDriver org.postgresql.Driver -jdbcUrl  |tpcc=# ¥d
lidbe:postgresql:// PostgreSQLH—/YDIPF K L X:5432/tpec -jd List of relations
bcPass postgres -jdbcUser postgres -logDir EEDOSHA T4 L2 Y Schema| Name |Type | Owner
public | customer | table | postgres
public | district | table | postgres
public | history | table | postgres
5 [REAF—SDRA ERDOY—/< 5 public |item | table | postgres
public | new_orders | table | postgres
public | order_line | table | postgres
public | orders | table | postgres
public | stock | table | postgres
public | warehouse | table | postgres
(9 rows)
HREEFAT— 9 DAHRER D7D, L TFOSQLXERIT count
S psal -d tpec 480000
(1 row)
[=# select count(*) from customer;
select count(*) from district; count
select count(*) from history; e
select count(*) from item; 60
select count(*) from new_orders; (1 row)
=i select count(*) from order_line;
select count(*) from orders; count
selectcount(’) fromstock; e
=t select count(") from warehouse; 490069
(1 row)
count
100000
PostgreSQLH—/< (1 row)
T, ostgre! —.
6 [REEAT—SDHBHRR (BEA7PostgreSQL) postgres count
143969
(1 row)
count
4902352
(1 row)
count
489967
(1 row)
count
1600000
(1 row)
S pg_ctl stop S pg_ctl status
e iting for server to shut down.... done pg_ctl: no server running
- PostgreSQL#—/< W
7 |PostgreSQLOELE (Bi#sPostgresaL) postgres server stopped
# cd /usr/local/src/postgresql-9.3.0 # su - postgres
# make uninstall S which psql
/usr/bin/which: no psql in (/usr/local/pgsql/bin:/usr/lib64/qt-
3.3/bin:/usr/local/bin:/bin: /usr/bin: /usr/local /sbin:/usr/sbin:/sbin:/usr/local /zookeeper
g [Bi#PostgreSQLOT VAR [PostgreSQLY —/< root -3.4.5/bin:/usr/local/storm/bin:/home/postgres/bin)
r—=L (BX#zPostgreSQL)
PostgreSQLDA > 2 h—JLIZ, TBI#E_00_PostgreSQLA Y Ah—IL_FIRIZBBLTTFIL, -
XL T —9R—295 29 DIER(initdb) & T h AN &,
o |PostgreSQL 9.3.2001 > 2 h—[PostgreSQLY —/< i
L (¥f#5PostgreSQL)
PostgreSQLY—/< S pg_ctl start S pg_ctl status
10 [PostgreSQLEEH (ﬁépcsl resaL) postgres server starting pg_ctl: server is running (PID: 1395)
8 /usr/local/pgsql/bin/postgres
S psql -
psql (9.3.2)
IType "help" for help.
rae ¢ =# select version();
$i3HPostgreSQLM/\— 2> [PostgreSQLH—/ < postgres o
M s (#BPostgresaL) postgres version
PostgreSQL 9.3.2 on x86_64-unknown-linux-gnu, compiled by gec (GCC) 4.4.7 20120313 (Red Hat 4.4.7-3),
64-bit
(1 row)
S psql tpce
=# ¥timing
[Timing is on.
=# VACUUM VERBOSE;
INFO: vacuuming "pg_catalog.pg_statistic"
postareSQLY—/< INFO: index "pg_statistic_relid_att_inh_index" now contains 422 row versions in 4 pages
12 VACUUM®D %1 (gﬁsﬁg;ist ro5QL) postgres DETAIL: 0 index row versions were removed.
8 0 index pages have been deleted, O are currently reusable.
CPU 0.005/0.00u sec elapsed 0.00 sec.
INFO: "pg_statistic": found O removable, 422 nonremovable row versions in 18 out of 18 pages
i
VACUUM
[Time: 45253.710 ms
S psql tpec
=# ¥timing
[Timing is on.
=# ANALYZE VERBOSE;
INFO: analyzing "pg_catalog.pg_type"
INFO: "pg_type': scanned 8 of 8 pages, containing 352 live rows and 0 dead rows; 352 rows in sample, 352
PostgreSQLH —/% lestimated total rows
13 (ANALYZEDR1E (##PostgreSQL) postgres INFO: analyzing "public.history"
INFO: "history": scanned 5180 of 5180 pages, containing 480000 live rows and 0 dead rows; 30000 rows in
'sample, 480000 estimated total rows
INFO: analyzing "public.item”
(RBg)
ANALYZE
[Time: 2605.188 ms
YANTRED T, L FDSQLX & RIT count
S psal -d tpec 480000
(1 row)
[=# select count(*) from customer;
select count(*) from district; count
select count(’) from history; e
select count(*) from item; 60
=i select count(*) from new_orders; (1 row)
select count(*) from order_line;
select count(*) from orders; count
selectcount(”) fromstock; e
=t select count(") from warehouse; 980138
(1 row)
count
100000
(1 row)
count
S PostgresQL#—/< 143969
14 RERT—SOHBIRE (S Csal) postgres (1 row)
count
4902352
(1 row)
count
489967
(1 row)
count
1600000
(1 row)
count




T—ER—RYSRED#EEFIFA9.30-9.32)

dbcRunner®d=E1T

PostgreSQLY—/<
(##iPostgresQL)

I

[$ export CLASSPATH=S$CLASSPATH: JdbcRunner ZREJL /=7« L2 F'J/jdbcrunner-1.2, jar

$ java JR JdbcRunner#@BL =7 L2 F U/scripts/tpce. js -jdbeDriver org.postgresql.Driver —jdbcUrl
jdbc :postgresql://PostgreSQL#—/YDIPF K L-Z:5432/tpce - jdbcPass postgres -jdbcUser postgres -LlogDir

HEQOTHAT 1LY FY

# java JR /usr/local/src/jdbcrunner-1.2/scripts/tpcc.js jdbeDriver org.postgresql.Driver
-jdbcUrl jdbc:postgresql://localhost:5432/tpcc -jdbcPass postgres -jdbcUser postgres
-logDir /tmp

13:48:29 [INFO ] > JdbcRunner 1.2

13:48:29 [INFO | [Config]

Program start time : 20140220-134828

Script filename  : /usr/local/src/jdbcrunner-1.2/scripts/tpcc.js

JDBC driver  : org.postgresql.Driver
JDBC URL : jdbc:postgresql://localhost:5432/tpce
DBC user : postgres

Warmup time  : O'sec

Measurement time  : 60 sec
Number of tx types : 5
Number of agents : 16
Connection pool size : 16
Statement cache size : 40

/Auto commit : false

Sleep time ,0 msec
Throttle : - tps (total)
Debug mode : false

Trace mode : false

Log directory :/tmp
Parameter O 0
Parameter 1
Parameter 2
Parameter 3
Parameter 4
Parameter 5
Parameter 6
Parameter 7
Parameter 8
Parameter 9 :
13:48:30 [INFO ] Tiny TPC-C 1.125,60,62,62 tx

13:48:52 [INFO | [Progress] 21 sec, 68,61,9,6,4 tps, 677,686,69,68,66 tx

hEg)

cococoococooo

13:49:32 [INFO | [Response time (99%tile)] 1122,1045,285,1168,609 msec
13:49:32 [INFO | [Response time (maximum)] 1476,1548,303,1245,1088 msec
13:49:32 [INFO | < JdbcRunner SUCCESS

F74 /LR DI00T TR\ s, 60D CREN DB REE F DL LERT 2.
i vi JdbcRunner&@AIL /=71 L7 R/ scripts/tpec js

var warmupTime = 0;

var measurementTime = 60;
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